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@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm
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T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
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23. 720yl 32ha 9 E=ollA & 5.6t & AASIAL, THYE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a
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@ 3.6 ha = 3600 m?
@ 46a = 4600 m2
@ 300m? = 3a

® 8km? = 80000 a
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@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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® 60+2.5 @ 48+1.5 ® 8.64+0.48

@ 144 +9.6 ® 26+3.25
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D 60 +2.5=600=+25=24
@ 48+15=48+15=32
3 8.64 +0.48 = 864 - 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 ~ 325 = 8




D) 66.88+3.52 @ 2-+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02+3
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@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 ~ 16 = 12.5

(3 4214 +43=14214+43 =98

@ 62.16 -84 =621.6+84 =74

® 16.02+3=5.34
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




